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VI Semester B.Com. Examination, May/June 2019
COMMERCE

6.5 Elective Paper-III : Business Taxation
(CBCS) (Fresh+Repeaters) (2017-18 & onwards)

Time : 3 Hours Max. Marks : 70

Instructions : (1) Answers should be written completely either in Kannada or in English.

8

(2) All questions are to be answered by the repeaters whose register
numbers starts with 15 only

e — @ / SECTION - A
CINYTTTR D WH-TINON 0Ok, T CVB-TI A0 WO, 5x2=10

Answer any five sub-qucstions. Each sub-question carries two marks.

(a) MY HoTD LoWTeRd 7

What do you mean by a block of assets ?
(b) Qe 30T Q0WIeR ?

What is Resident Company ?
() CBEC @ BCD Zunes, 9504

Expand the terms CBEC and BCD.

What do you mcan by self assessment ?
OR
what do you mecan by inter-statec sales ?
(e) TRONFIRFELAT TVLOTVT ROTT G0 7
Who is working partner ?
{f) oD PCT O3RN ?

What is custom duty ?

P.T.O.
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How do you treat interest payable to partners, capital during assessment

of firms ?

QR — © / SECTION - B

t.

SRPEIETR TR BEATA YDA WS TIN ST SOSAW. 3x6=18

i J o

Answer any three questions. Each question carries six marks.

o3

2. edess a‘ma’g FOTAOH WP WO cNOIW Mo o2, O@0T 1-4-2017 God ©T0
WDV ﬁ@ﬁ{,@ T 50,00,000 o2 g . ?Jfﬁﬂ RWRFRY Loeed 5-9-2017 do

¥ 20,00,000 SP0E adm0th 0DoZRH, FOTLCLTD D0HATRT,

OTwos 2-11-2017 UoTk TOWIOL GRTreny 0% “XTo3 ACERATY, ORCTR)

NEORNOD FFPOTY TOATWOITIONG. Welio FOTAOIN, Wk WOTOT@N T 25,00,000
BRTWI, VBIT. 0DOTE BBEY T 10% THT.

Ly
WRTDD, TOELRAWD
L
2000 wie¢ 0hoBNY ricek Wod WISy Fomeres mﬁmﬂ%ﬁ HBE T SOATDR,
=i & o a3 o
S592500 wn®. STWe0 woniwmol wwdd WmO®me0m™, < 25,00,000 20t ek

Veeresh and Co. had a block of plant and machinery having WDV of
< 50,00,000 as on 1-4-2017. During the year an additional machinery costing
¥ 20,00,000 was purchased on 5-9-2017.

On 2-11-2017 fire had broken in the premises of the company ﬂcsrroying a
considerable part of the old plant and machincry. Insurance company paid
the damages of X 25,00,000. The rate of depreciation applicable is 10%.

Calculate the amount of depreciation chargeable to P and L a/c¢ for the year
ended 31-3-2018.

Will it make any dilference if the entire block of plant and machinery is
destroyed by firc ? Show the calculations assuming that the claim amount
T 25,00,000 remain same.
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3. P,Q ®F RV 2000 F00Te0T NC»JCLOD SRLTRITNTD, H[RTITLOT LW
oL~ Nwﬁ;’_o Hmen TowdeWEmes. 31-3-2018 mé‘ﬁmm BREE, 8 TINS

o S
aS AP, FED, WOFKW T 5,00,000 dSF 995 BREDH

acls

ED?
|, L
£l

(i) PR 2e@T saoms® - 20,000

(i) R7A Qa3 tdeess® ~ T 10,000

(iv) Tosyeod Igme DGM el — T 30,000
wed3 T5,00,000 ¢ % oy T 20,000 300 T BRRING Heds W& TR

A

Dmn, LENROBE. 8% QR BR&LE®CE 2017-18

g,{
S
O
CL
&l

10,000 03w B0t

ARIN TRLOTRTON VEBECTOW RORIWS woe) RoZoD w0 TROPTR, FOW LB,
P, Q and R are the partners in a firm sharing profits and losses cqually. For
the year ended 31-3-2018, The firms net profit is ¥ 5,00,000 after debiting
the following :

(i) Salary to Q - ¥ 50,000

(ii) Commission to P - ¥ 20,000

(ii1) Bonus to R - ¥ 10,000

(iv) Donation to NDF - ¥ 30,000

The above net profit ¥ 5,00,000 also includes ¥ 20,000 interest on govt.
securities and ¥ 10,000 devidend from Indian Company.

Compute the remuneration payable to partners and firm’s business income
for the year 2017-18.

P.T.O.
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X &E3oTnTen 83
FINT ToBSMh TN wPme ©FES DDFnde 2owIT, STA.
(i) A0oh IYITOHOW FTTER TRT WomREd

(i) ez ﬁagﬁ@a

(iii) @& TeedR w08

b

(iv) RCBOSRIYT T WNTLTOF B

(v) T3 AE wonmny SA0H dedr o, WPAIRYLY BRAWM I Wy,
DLHETIL

(vi) woBeY BAOD BRTWOOTRT I,

State whether the following payments are admissible or not while calculating

the business income under the provisions of Income Tax Act.

{1) Loss of stock duc to theft by an employee

(ii} Service charges

(ii1) Charities paid

(iv) Provisions for doubtful debt

(v) Legal expenses to defend on existing title to a capital asset

(vi) Loss on sale of capilal asset

B FIPNT VFPVNYoR IONMATTRILTITIT =9 BPLBH, TOLACRD :

(i) o%o8w FOB @% 32,000 UK Romdnsd

(i)  BoELOROONT VB e,JaT%ﬁd ﬁ&%ﬁ%ﬁo 12,000 UK ZRo@ns

(ifi) SEmTeIRS Toreedsd &Y — 6,000 UK TPomnw

(v) @D Fg-Bwbed ROY

(v) Aweod HBoR Hoodn dpwmoRnyd Jemelemt BURY @ 2% SR-0D0TH
FOB SPes shed

(vi) 2e0T, AUFTR) TREAWE WAL P, ©3 1 UK ZPoR 68 TRITIOBNW

From the following information, compute the assessable value

(i) Value of machine in UK pounds 32,000. FOB

(i) Engineering and design charges paid - UK pounds 12,000

(i11) Freight paid (Air) - UK pounds 6,000

(iv) Insurance - Not known i

(v) Commission payable to local agent @ 2% of P‘OB in Indian Rupees.

(vij The exchange rate announced by the’ Central Government is

T 68 per UK pound.
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6. -DIOT 20T ? 9-DIOTFROT BT HWRRONW TR 7
@ 95 W

T v
TEITOAT [EE 2017-18 § RoOTT 508 Mr. ST onsedRo BeeEed HRUetD
ToworHEes, T NG LBVTAYET $e0T, WRTW SONOBT, IPFOAD.
i) ooy 28I T 30,00,000
(ii) Beow, Hwoew dOR — 22%
(iii) =RERTe DodRoe — 8%
(iv) Snch bodeene — 2%
(v) Rowoom =Hed0 I — 10,000 3.0
(vi) &3TH0IRT 2owH WTHRYR FeYWED TROAE Fwwee — 1,000 &.neo

(vii) TwoS03E ©T> on9T Fo3TY IRLWI T, BRRT  TWI0R
- 2,000 3.70
(viii) OB W30 5055 : 0555, Qw08 14.6.2017
What is e-filing ? What are the benclits associated with e-filing ?
OR

Determine the CST for the financial year 2017-18 from the following
information of Mr. Tanush when the sale is effected from Bengaluru to
Kolkatta.

(i) Sales price ¥ 30,00,000

(ii) CST - 22%

(iii) Trade discount - 8%

(iv) Cash discount - 2%

(v) Ouantity Supplied - 10,000 kgs |

(vi) Quantity rejected by the buyer within, a week éftcr delivery -

1,000 kgs

i i N

(vii) Quantity retumcd bv the buycr after 6 months of dispatch 2,000 kgs

(viii) Invoice numbur O%S'—? dated 14.6. 2017

P.T.O.
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{gen - 2 [SECTION - C

QUNTYTRTETR FRT: TININ Wb, T BI7 TOTewy Lok, 3x14=42
Answer any three qucstions. Each question carries fourteen marks.
3on AesdEme wwe 2018-19 F WOHATOZ DT T';‘_"oi_ FOWICW eijaidﬁ*’é.“&d\ B8
3YNTOT JEBRAT

QWONEe SSorc] SQTONEO ciior]

T R
A ®wny Iciwodch | 10,00,000|m08 sSnoseinss 14,00,000
WooTok) WIREW ATINY
el
R Qeprmds woBmeY 3,000|z00 G 9% woRm™Y 1,50,000
SRR eI 2on oogs (tegsw 10(38) dgob
&ood 38R DTCDE [T

A meEe 85,000 |500 #d5:0 Toes TRRINT 15,000

A et oegwos | 1,30,000

A sceod 30R 60,000
A &%J ool 2,87,000
15,65,000 15,65,000

933 R :

1 =o0d 301 TORORTER FPoDLTTT IVTY =g T 50,000

2. %003 FRFGOE WHTE TPT o0 BFHIT FHW 03, T 1,25,000

3. %oDI WRFOOT wmed Jored BET o BRO oReos oD B3
3 55,000

B3 R FPLINTO !

(i) #owkRd, QERTNIRODY FOTROR b Sﬁmo\f\,dt’:‘:&

{ii) F0TI0D TRBSRB T Howod VRN BRBOION @ 98 WINR

(iii) @wmeodk 3o woHod ToPed 115-JB HT RIS Reless ORoRT,
ORI,
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The following is the informartion of Tanush and Co. for the A.Y, 2018-19.

a Amount L Amount
Particulars . Particulars *

To Cost of goods sold | 10,00,000|By Sales 14,00,000
To Tax relating to LTCG 3,000|By Longterm Capital gain | 1,50,000
To Depreciation 85,000 (Exempt u/s 10({38)}
To Proposed dividend 1,30,000| By Int. on govt sccurities 15,000
To Income Tax 60,000
To Net profit 2,87,000

15,65,000 15,65,000
Additional Information :
1. Depreciation allowable for the year as per income tax Act is ¥ 50,000

2.  Brought forwarded business loss as per books of accounts is ¥ 1,25,000
3. Brought forwarded unabsorbed depreciation is ¥ 55,000

Compute :

(i) Total Income of the company under normal provisions

(ii) Tax lability of the Q()fﬂp&ny

(iti) Tax payable U/S 115-JB

P.T.O.
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8. Mr. 505 950ed5h0on ARNPIE 30weed US$ 1,20,000 (FOB) BSmeidn ot
0RO TR @d%‘% BRI LITHR w@mﬁﬁﬁiﬁi 350000 f»?ﬁsﬁra@;o@c‘o 20T T3V WWINW
T TYIOBOIm.

(b) ERT ITPLOOT AV HOD WA BIRCHR/BNT =OR B TP
< 30,000

518

ity

(c) mormedd X3 US $ 36,000 (£93¢0%080T $TST)

4]

(d) =TBAY Dk SRR, VFoD TeIohD TR Te SROLY TN TEIQ.

(¢) Mr. F3oT OT0LCRoT wHedIRY 0DodE Tewk TBE RTIdAIL § 6,000

DF TRET. JTT AR, WICH FLohY TSFIAY

(f) = &m0 AWoT — 15%, gt x0% — 3% Tene IGST -18%
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Mr. Bharath imports by air from USA a machine along with relevant

accessories and spares for the value US $ 1,20,000 FOB. The other details

are as follows :

(a)

(b)

(g)

Commission to local agent in India T 27,000

Freight and Isnsurance from airport to lactory godown ¥ 30,000

Freight - US § 36,000 (US to India)

Goods arc insured, premium amount is not shown in invoice and not

available

At the request of Mr. Bharath, US % 6,000 has been incurred as cxpenses
for improving the design of the machine, but the same is not reflected

in the invoice.

Basic custom duty is 15% cducalion ccss -« % and IGST - 18%

Exchange rate to be considered US $1=T72

Compute :

(1)

(i)

Assessable Value

Total custom duty payable

P.T.0O.
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9. A, B C Toowodd wotd FOF0H 05 wd TIATER. anmen Xoiedsdood.

G ;i =& t = B0

L

THZ 2017-18 Se SREY. 8 TYmSATRivas, soion SHRoug 39T Toso,

l.i

xoﬁmﬁ 3 6,00,000 E:S@;mﬂd

(a) AR BT ELTI'T Bed T 40,000
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(f) =woed o1 T 1,00,000

.8

(g8) 3Let wodn T 1,00,000

(h)  @aned Heds J@BFP % 4,00,000 (swecsh 07 =oai==on =<onumos

Tewon #Bweg ¥ 4,80,000)

2L

(i) SRNTRTT woBWYS DT WA, ToLFT 20°: T3
A - ¥ 64,000
B -3 56,000
C -3 72,000
VYT, B IFBOR LERoLRIR, 3% AT BT — TEC sRE0DhY dRedATNT.
(i) oePrmded wommy g T 90,000
(i) wondes worwmey vy T 70,000

(ili) SeROT RNesE wmeed T 3,80,000
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A, B and C are the partners sharing profits and losses equally in a firm.
During the year 2017-18 the firm incurs a net loss of ¥ 6,00,000 after

deducting the following :

(a) Commission to A 40,000

(b) Bonus te B and C X 80,000 each

{(c) Salary to A, B and CX 1,60,000 each

(d) Donation to PM’s National Relief Fund ¥ 80,000
(e) Income Tax X 40,000

(f) Sales Tax I 1,00,000

(g) Office rent ¥ 1,00,000

(h) Depreciation on assets I 4.00,000 (Allowable depreciation as per IT Law
is ¥ 4,80,000)

(i) Interest on Capital Calculated at 20%

A - 64,000
B - ¥ 56,000
C -3 72,000

The profit and loss a/c also included the following incomes
(i) Long term Capital gain T 90,000

(ii) Short term Capital gain ¥ 70,000

(iii) Export earnings ¥ 3,80,000

Compute the book profit. of the firm and its taxable Income for the A.Y.
2018-19. ' 1 '

P.T.O.
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Following is the Profit and Loss a/c of Sandesh and Company Limited for the

PY, 201718 4

To Establishment exp

To Rent and taxes

To Depreciation

To Fire Insurance

To Provision for Tax

To Entertainment expenscs
To Donation to Rajiv Gandhi

Foundation
To General expenses

To Proposed dividend

[To Net Profit

2,50,000
27,500
60,000
17,000

3,10,000

65,500
10,500

5,96,100

Bv G.P
3v Rent received (HP)

By Profit on sale of fixed asset

By Int on govt, securities

By Dividend received from
Indian Company

13,61,000

12,00,000
80,000
37,000
24,000

20,000

13,61,000

Additional Information :

1. General expenses include a sum of ¥ 9,600. Municipal tax and ¥ 1,600

insurance on house property let-out.

2. Depreciation admissible as per IT law is ¥ 50,000

Compute the total income of the company for the AY. 2018-19.

P.T.O.
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(a) Write a brief note on benefits of digital signature.

(b) XYZ Co. Ltd. has an estimated total tax liability of I 1,50,000 for the
PY. 2017-18

(i)  What arc the due dates for the payment of advance tax ?
(i) What is the amount of advance tax to be paid on cach due date ?

(c) The following arc the payments made by PQR Co. Ltd. for the
P.Y. 2017-18. Calculate the amount of TDS to be made assuming that
all the recipients have valid PAN (except Mr. A) and all are resident
Indians.

(i} T 40,000 Paid to Mr. A as the rent per month
(ii) ¥ 2,00,000 paid to statutory auditor as the audit fees for the year
(iii) ¥ 1,20,000 paid as brokerage to XYZ Co. Ltd.
(iv) ¥ 1,00,000 paid to Mr. Ramesh towards execution of an event.
OR
What is CST ? Explain the objectives and features of Central Sales Tax.
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